
Questions and Answers – URBAN & RURAL
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Questions
1. In 1990, 26% of the ‘millionaire’ cities were in the __________ hemisphere.
2. In the year 2000, it was estimated that 6 of the 10 largest world cities were in the continent of ____.
3. The process of _____________ is now resulting in some European cities shrinking in size.
4. The % of people living in urban areas in LEDCs varies from _____ in Vietnam to ____ in Brazil.
5. If the rank-size rule does not operate, the urban hierarchy is dominated by a single large ______ city.
6. The development of the earliest cities depended on the production of a _________ __________.
7. The development of most west European cities depended on the process of __________________.
8. Urbanisation in LEDCs creates tremendous contrasts in wealth & opportunities with a small _____ in the heart of the city (or in some cases now on the outskirts) and a large mass of people living in __________ settlements around the edges.
9. Large numbers of people in LEDC cities are dependent on __________ employment.
10. Counterurbanisation is dependent on increased ___________ and improved _________ systems.
11. Many rural villages have become ______________ settlements for large numbers of commuters.
12. As populations decline in inner cities, an increasing number of ______________ remain behind.
13. ________ _____________ are under pressure as urban sprawl becomes an issue again.
14. ____________ of inner cities in MEDCs in the 1950s/1960s led to a reduction in housing density.
15.  In MEDCs, _______ _________ and fear of ________ are two of the major issues.

